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% g - KR Bifr 2 il & &8 w ZE

EEIEE 72, 647, 824
MEIER 8,080,569 + 19,156, 847 27,237, 416
HEREE GD 975,662 + 6,574,628 + 530,279 8,080, 569
HBERHE (BE) 975, 662
HBERER (R) 72,647,824 x 9.05% (7.55% +1.50%) 6,574, 628
BSRENER 72,641,074 x 0.73% 530, 279
RnEER 80,728,393 x 23.73% (22.33% +1.40% 19, 156, 847
TERf 72,647,824 + 27,237,416 99, 885, 240
—REEES 99,885,240 x 15.58% (15.58% x 1.00) — 7,314 15, 554, 806
RAIRAL 99, 885, 240 x 0.04% 39, 954
T &l 99,885,240 + 15 554,806 + 39, 954 115, 480, 000
HBETEALE 115,480,000 x 10.00% 11,548, 000
HATISE 115,480,000 + 11,548, 000 127,028, 000
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£ g - AKTiE B B = fili & &8 i
BEEISE 72,6417, 824
[BF5] (BYERM) 17, 239, 564
HMET 79, 890
HMET 79, 890
KETDSHBH 25,270
1 XEtD5T 38.00 665 25,270
&
RELTDSHEE 37, 240
2 RB+rD5T 56. 00 665 37,240
&
Efg sy 17, 380
3 BIGHRE M- R MER 1.00 10, 630 10, 630
=l
4 nnE BT AFv o0y 0.90 7,500 6, 750
m 3
T 9,087, 905
TRMEHRT 7,067, 266
T EERD 7,067, 266
5 A (b-1") 1,939.00 198.3 384,503
m 3
6 LRYEER 1,939.00 352.5 683, 497
m 3
TERLEEA 1,939.00 3,094 5,999, 266
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HRET 1,816, 545
HERL 1,816, 545
8 BREL 1,745.00 1,041 1,816, 545
m 3
RIET 204, 094
RIEY 204,094
9 FRiEY 356. 00 220.8 78, 604
m 3
10 TRV ER 356. 00 352.5 125, 490
m 3
KmmETLT 7,105,619
KmEFarysy—+rIT 7,105,619
AKmEarHsy—+O® 3,590, 345
M avy)— T EL) EIBEY. 18N-8-40 319.00 11, 255 3,590, 345
m 3
2RO 592, 200
12 KRR AN (EHK) 63. 00 9, 400 592, 200
m2
B#h®@ 156, 800
13 fafE B #h BEEHR t=10cm 64. 00 2,450 156, 800
m2
MR 997, 234
14 F&A (b-37) 61.00 926.1 56, 492
m 3
15 BEBERAEERA 61.00 9,249 564, 189
m 3
16 ERBREHHL 61.00 6,173 376, 553
m 3
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JKAN &= T THEHS 1,769, 040
17 KA & TiE T 1.00 1,769, 040 1,769, 040

=®
SEYERFLET 966, 150
SEEFLETOY ST 966, 150
SRR D Oy VA 648, 210
18 70w 7 BHRiEH (R LE#sA=X)  [1.5Bx0.5Hx3.0L, 18N-8-40, 4. 7t/f& 170. 00 3,813 648, 210

L[E]
SESERA LE T i T A4 317, 940
19 SEHERAIE T FE T HtH 1.00 317,940 317, 940

=%
(1EF5] (BEZFARXR) 54, 889, 740
T 3,375, 873
m+T 3,375, 873
TR 2,786, 085
20 F&A (-27) 3,084. 00 198.3 611,557

m3
21 TREER 3,084. 00 705. 1 2,174,528

m3
Bt 589, 788
22 BRIK(ZER)BL 3,096. 00 190.5 589, 788

m3
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HET 18, 043, 561
HEEEAT 18, 043, 561
&R 11,092, 796
23 EEMH 902. 00 12,298 11,092, 796

m 3
BRER - BA 1,158, 923
24 A (b-27) 1,173.00 236.4 271,297

m 3
25 TRMEER 1,173.00 515.2 604, 329

m 3
26 FA (b-27) 1,173.00 236.4 271,297

m 3
BRHL 5,791, 842
271 #BEHL 387.00 14, 966 5,791, 842

m2
flzER 0
28 MIEER 0.00 0 0
FKEIRT 1,978, 722
xR T (1EJK) 1,978, 722
EE 1,674,160
29 SRR H /Ny RRZ10H, L=3. 5m, SYW295 1.00 1,653, 148 1,653, 148
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30 £ K HRTrEN 34.00 618 21,012

®
HHRMRITIA 115, 022
31 AR HRZEEA) 4 TER (UN T Ay 34.00 3,383 115,022
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1E 7KK AR THE THEA 189, 540

32 /KRR THE T H#H 1.00 189, 540 189, 540
=

XAEL 25,199, 038

RAEL 18, 590, 060

RKEkarHyy—rI 13, 333, 782

B3 avyy— TR (EL) 18N-12-40 W/C65% 1,029.00 12,958 13, 333,782
m 3

R 514, 600

34 ZREHN (EHRK) 83.00 6, 200 514, 600
m

HHR 5 114, 400

35 fREAHERHEEL (EHRX) 44.00 2, 600 114, 400
m2

B 4,057,200

36 BB AN (EH) 483.00 8, 400 4,057,200
m2

=/ 12, 360

37 SkEhINTHANL SD345 D13 L=940mm 120. 00 103 12, 360
kg

B#h®@ 485, 100

38 BB i BEER t=10cm 198. 00 2,450 485, 100
m2

HRAED 72,618

39 ERAEAK 757 MER 294.00 247 72,618
m2
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Foh—I 6, 608, 978
avyy— IR 585, 648
40 225 )—HEIA @ 34mm  L=300mm 581.00 1,008 585, 648
fl
BisHh 7L 755, 300
41 #EEH T E D25 581. 00 1,300 755, 300
PN
= 795, 970
2 EHToh— 581. 00 1,370 795, 970
x
EBHRE 1,313,060
43 EfRHRE 581. 00 2,260 1,313,060
X
AR I THEAR 3,159, 000
44 KA I W 1.00 3, 159, 000 3,159, 000
=
SEYEMLT 2,651,313
HERLEIOVST 1,670, 477
HEML T O Y 8 1,556, 087
45 =T 1 U THE 22kg/% 135.00 565 76, 275
m2
46 BEkAHM AL SD295A D16 L=970mm 181.00 163 29, 503
kg
47 SRBIR F4E TR S 153. 00 3, 800 581, 400
m2
48 AR ERE L ¢ 700 x 4000H 4.00 28, 500 114, 000
x
49 O H ) — TR 18N-8-40 W/C65%. EFIEEY 61.00 11, 485 700, 585
m3
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50 EMINEE 1.00 33,300 33, 300
m 3
51 7O v YEE 24.00 876 21,024
1&
REELE T Oy R 114, 390
52 J0 v U ERIEM ELEHFR) 1.5Bx0.5Hx 3. 0L, 18N-8-40, 4.7t/{& 30. 00 3,813 114,390
1&
FEEMBLEaVS ) — T 980, 836
FEIHU—F 220, 636
53 BRAEHRQ 9357 MER 18.00 247 4,446
m2
54 BIHQ 9.00 8, 400 75, 600
m2
b5 MR ¢ 700 x 4000H 1.00 28, 500 28, 500
x
56 2>y )— hiTER (BEL) 8.00 11, 255 90, 040
m 3
57 B#h® BEER t=10cm 9.00 2,450 22,050
m2
SEYERG LE T HE T4 760, 200
58 BEERA L T HE T4 1.00 760, 200 760, 200
=
#BIReT 1,107,938
BREkEFEEIRAT 1,107,938
#BIRa> -k 270,120
59 o>y )— biTER (BEL) 24.00 11, 255 270,120
m 3
Bl 537, 600
60 SHEEFHE AN (EH) 64. 00 8, 400 537, 600
m2




BERNRE EHAEEREEZOMREHREHRIIE(ZD(2)
=/ 618
61 $khhn THESL SD345 D13 L=940mm 6.00 103 618
kg
1818 T ie T #4 299, 600
62 EIBITHE T 1.00 299, 600 299, 600
=
KmmETLT 2,533, 295
KmEarHyy—+T 2,533, 295
AKmEarHsy—+Q 956, 675
63 a2y — MTER(BEL) EBEY. 18N-8-40 85. 00 11,255 956, 675
m3
BTG 361, 200
64 SHEE AN (EH) 43.00 8, 400 361, 200
m2
BTG 169, 200
65 AREE PN (EHH) 18.00 9, 400 169, 200
m2
B 161, 700
66 {iiEE th BEEHR t=10cm 66. 00 2,450 161, 700
m2
JKANE T T 884, 520
67 JKADE I e THEMR 1.00 884,520 884,520
=
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&R T 518, 520
T 518, 520
&R T 88, 380
SERRG IR 5% 88, 380
68 EEkiRER 7.00 4,495 31, 465

"
69 BIREE HE 33.00 166 5,478

m2
10 % %41 S E 1.00 23,337 23, 337

=
N RELHST 8.00 665 5, 320

%
12 2403 —2=vy MEE 10. 00 2,278 22,780

%
TEAER 0
13 TEHAERK 0.00 0 0
TEXER 430, 140
REFEZREE 430, 140
14 F@EFEEE 1.00 430, 140 430, 140

=
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#BERREFEL)

975, 662
HEREH 975, 662
HERHRE 975, 662
EikE 830, 062
EEREmAR EFE R 830, 062
15 Sy fRHASIE R 1.00 830, 062 830, 062
RifTEEE : 145, 600
BEIREIXRERE 145, 600
76 BEZIEEIRERE 1.00 145, 600 145, 600

=
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EHNEERREZOMREHEHR)IIE(ZD(2)

&5 1
&% KBELt05T 1084 1)
% 7 g - BIRTE BT 2 B Of | b B &
HEER
A 0.070 22,100. 00 1,547
YRIEXR
A 0.070 20, 100. 00 1,407
N yhifEEL
B 0.070 52,902. 00 3,703
= it YE%HEH - 10. 00 665. 00 6, 657
&5 :2
&% KBELt05T 1084 1)
% 7 g - BIRTE BT 2 B Of | b B &
HEER
A 0.070 22,100. 00 1,547
YRIEXR
A 0.070 20, 100. 00 1,407
N yhifEEL
B 0.070 52,902. 00 3,703
= it 1YEZHES - 10.00% 665. 00 6, 657
%5 :3
2 WIERE R THMER IEED)
£ 7 R - BIRTE BT 2 B Of o b B &
BISFHE & - TR RER
[=] 1.000 10, 630 10, 630
= it YEZHERN - 1.00[m 10, 630 10, 630
E2=
2 WHE BRISRAFvINS m3&zkY (Im3)
% 7 g - BIRTE BT 2 B Of o b B &
noeg BITSAFvY
m3 1.00 7,500. 00 7,500
= 5 YE%HEN : 1.00m 3 7, 500. 00 7,500
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EHNEERREZOMREHEHR)IIE(ZD(2)

E =)
25 A1) Tm3%HY
% 7 R - AT By H = i € W = B &
A -17)
m3 1.000 198.3 198.3
= it 1E%HEH : 1.00m 3 198.3 198.3
ES:6
B TREERR Tm3%HY
% 7 R - KT By H = i € W = B &
TRYEER
m3 1.000 352.5 352.5
= it YE%HEN : 1.00m 3 352.5 352.5
B&S:7
A BRELIEA 100m3% Y (100m 3)
% 7 R - AT By H = i € W = B &
SITFL—2L—r A AR ER) GhE > J8) 25t H
B 2.00 42, 800. 00 85, 600 8H
Ny oKD (VO—58) Eix BEE AR5 ERE (FE2RE#ME) LFE0. 6m3
(F7&0. 5m3) B 2.00 51, 666. 00 103,332 6.30H / 8H
HEER
A 1.00 22,100. 00 22,100
U
A 2.00 23, 400. 00 46, 800
LEEXE
A 3.00 17, 200. 00 51, 600
= it YE%HEH : 100.00m 3 3,094.00 309, 432
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%5 :8
&% #BRL 100m3z Y (100m 3)
% 7 R - AT ==X = i & | W = B &
ININy YR (Y a—5H) IF50. 11m3 (M A R EREE2R)
B 0.50 32,570.00 16, 285 8H
RkEO—> N2 RHA4 R 0.5~0. 6t
B 0.50 22,581.00 11,290 4. 90H / 8H
HEER
A 1.00 22,100. 00 22,100
Lo ES
A 1.00 20, 100. 00 20, 100
LEEXE
A 2.00 17, 200. 00 34,400
= it 1YE%#EH : 100.00m 3 1,041.00 104, 175
5:9
2% KIEY Tm3%Y
% 7 R - AT ==X = i & o W = B &
RIEY
m3 1.00 220.8 220.8
= 5 1E%HEN : 1.00m 3 220.8 220.8
H5:10
AF . TREERK Tm3%Y
£ 7 R - KT ==X = i & o W = B &
TRYEER
m3 1.000 352.5 352.5
= it YE%HEN : 1.00m 3 352.5 352.5




RER-FET/vr—>

EHABEEOMRER@RIIE(ZND(2)

&H#5: 1
B2y ) — MTEGEL) EHEEY. 18N-8-40 10m3%y
2 Lo R - AT By B E i € &8 b B %
LT4—2H9Rbavy)—+ 18—8—40, W/C=65%LLTF
m3 10. 30 8, 500. 00 87, 550
a9 ) — MMTHR (LEBTHEE) g L—ikE
m3 10. 00 2,500. 00 25, 000
& it 1YE%HEH - 10.00m 3 11, 255. 00 112, 550
H5 :12
2 . REBRHEIHEN (EHR) 100m2%Y
2 Lo R - AT B B E i € &8 b B %
AR (EHK) o L—UiRE
m2 100. 00 9, 400. 00 940, 000
& it YE%HEH : 100.00m 2 9, 400. 00 940, 000
H5:13
&% miEEH EFER t=10cm 100m2%H1Y
2 Lo R - AT B B E i € &8 b B %
BHEEHT (BEER) t=10mm
m2 100. 00 2,450. 00 245, 000
& it 1YE%HEH : 100.00m 2 2,450.00 245,000
H5: 14
¥ FEAO-R) Tm3%HY
2 Lo R - AT By B E i € &8 b B %
&A1)
m3 1.000 926. 1 926. 1
& it YE%HEN : 1.00m 3 926. 1 926. 1
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H5: 15
2% ERRARA

EHNEERREZOMREHEHR)IIE(ZD(2)

10m3ZY (10m3)

2 Lo R - AT By = B € &8 b H %
y8a—3%9 L—2 (HEEREIR) 50tm
A 0.70 63, 180. 00 44,226 8H
LU
A 0.70 23, 400. 00 16, 380
LREEXER
A 1.41 17, 200. 00 24,252
MM 2R0%
% 9.00 84, 858. 00 7,637
& B 1YE%HEH - 10.00m 3 9, 249.00 92, 495
&H5:16
2% ERBRARHEIL 10m3Hy
2 Lo R - KT By = B € &8 b i %
HEtR RC-40
m3 12.00 1,970. 00 23, 640
HHIEEER
A 0.30 20, 100. 00 6, 030
LEEXEER
A 1.80 17, 200. 00 30, 960
B CE] FHEEDY
% 3.00 36, 990. 00 1,109
& it 1YE%HEH - 10.00m 3 6,173.00 61,739
&H5 17
BT KN E THE THEM =)
2 Lo R - AT By = B € &8 b i %
y8a—3%9 L—2 (HEEREIR) 50tm
A 28.00 63, 180. 00 1,769, 040 8H
& it 1EZBER - 1. 00K 1,769, 040. 00 1,769, 040
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&H5:18

& J0v 0 ERIES ELEEAR) 1.

5Bx0.5Hx3. 0L, 18N-8-40. 4.7t/{&

EHNEERREZOMREHEHR)IIE(ZD(2)

1B8Y (6448)

% 7 R - AT By H = B Of & | W = B &
ckovy 11t3&
H 3.00 42,422.00 127,266 4. 70H / 8H
U
A 2.00 23, 400. 00 46, 800
LEEXE
A 4.00 17, 200. 00 68, 800
MM 2R0%
% 0.50 242, 866. 00 1,214
& B {EZBER : 64. 00& 3,813.00 244,080
H5:19
B RAER L ThE TAEH 1KLY
% 7 R - KT By H = B Of & o W = B &
SITFL—rL—r A AR ER) GhE > J8) 25t H
H 3.00 42, 800. 00 128, 400 8H
ya—3%9 L—2 (HEEREIR) 50t/A
H 3.00 63, 180. 00 189, 540 8H
& it 1EZBER - 1. 00 317, 940. 00 317,940
H5:20
B A1) Tm3%HY
£ 7 R - KT By H = B Of & o W = B &
A (b-27)
m3 1.000 198.3 198.3
& it YE%HEN : 1.00m 3 198.3 198. 3
&H5: 21
AF : TREERK Im3%HY
% 7 R - KT By H = B Of & o W = B &
TRYEER
m3 1.000 705. 1 705. 1
& it YE%HEN : 1.00m 3 705. 1 705. 1
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55 :22
2 BRI (BRI L Tm3%HY
2 Lo R - AT B B E i € &8 W = H %
BRI () B+
m3 1.000 190.5 190.5
& it 1E%HEH : 1.00m 3 190.5 190.5
5:23
2% EBEMH 1,000m3 Y (1000m 3)
2 Lo R - KT B B E i € &8 W = i %
&R 200~500kg/ &
m3 1, 300. 00 9, 460. 00 12, 298, 000
& B YE%HEH : 1,000.00m 3 12, 298. 00 12, 298, 000
H5:24
ZH : FEAO-R) Tm3%HY
2 Lo R - AT B B E i € &8 W = i %
A (-17)
m3 1.000 236.4 236.4
& it 1E%HEN : 1.00m 3 236.4 236.4
H5:25
B TREERR Tm3%HY
2 Lo R - KT B B E i € &8 W = i %
TRYEERR
m3 1.000 515.2 515.2
& it 1E%HEH : 1.00m 3 515.2 515.2
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H5:26
2 H : FEA -7 Tm3%HY
2 Lo R - AT By = B € &8 W = H %
A (-17)
m3 1.000 236.4 236.4
& it 1E%HEH : 1.00m 3 236.4 236.4
&H5 2]
& BARYL 100m24 Y
2 Lo R - KT B = B € &8 W = i %
Ny iR (VO—58) Eig BEE AR5 ERE (FE2RE#ME) LFE0. 6m3
(FE%50. 5m3) H 6. 60 51, 666. 00 340, 995/6. 30H / 8H
Ny iR (VO—58) Eig BEH A R %t 5B LUFE0. 28m3 (FF50. 2m3)
A 9.90 39, 492.00 390, 970/6. 30H / 8H
HEEE
A 1.70 22,100. 00 37,570
"I
A 3.40 23, 600. 00 80, 240
LREEXER
A 29.70 17, 200. 00 510, 840
MM 2R0%
% 10. 00 1, 360, 615. 00 136, 061
& B YEZH#EH - 100. 00m2 14, 966. 00 1,496, 676
H5:29
AFE : SRRAMFE /vy FRZ10H, L=3.5m, SYW295 12tmyY
2 Lo R - KT B = B € &8 W = i %
FE /Ny FRZ10H, L=3. 5m, SYW295
pod 34.00 48, 622. 00 1,653, 148
& B 1EZBER - 1.00K 1, 653, 148. 00 1,653, 148
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H5:30
B : SRRBIED THHY (140%0)
4 73 FRHE - AR IR B = B i & # it B &
HEE&
A 1.00 22,100. 00 22,100
U
A 2.00 23, 400. 00 46, 800
LEEXE
A 1.00 17, 200. 00 17, 200
AR 2R0D%
% 0.50 86, 100. 00 430
= 5 YEZERE S ¢ 140. 00#% 618. 00 86, 530
&E#5 : 31
B SRR HREMM) TR N TO/n < B - fEEET) 1HHY (53%)
4 73 R - AR 3R B = B i & # it B &
N TN Ny FEMAERRITER - L BEIRX - IEE—A Y R (Vv FREER
HEI) 900/8) 60kW B 1.00 68, 510. 00 68, 510
HEE&
A 1.00 22,100. 00 22,100
U
A 2.00 23, 400. 00 46, 800
LEEXE
A 1.00 17, 200. 00 17, 200
AR 2R0D%
% 16. 00 154, 610. 00 24,7317
= 5 YEZERES : 53. 00#% 3,383.00 179, 347
5 :32
R EKRAR THE T #4 1XHY
4 73 R - AR R B = B i & # it B &
20—5%9 L— GREERER) 50tH
B 3.00 63, 180. 00 189, 540 8H
= it YE%HeN - 1.00X 189, 540. 00 189, 540
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&5 :33
¥ AV ) — TR (BEL) 18N-12-40 W/C65% 10m3%Y
2 Lo R - AT By = i € &8 b B %
LT4—2H9Rbavy)—+ 18—12—40, W/C=65%LLTF
m3 10. 30 8, 600. 00 88, 580
a9 ) — MMTHR (LEBTHEE) Ry THE
m3 10. 00 4,100. 00 41, 000
& it 1YE%HEH - 10.00m 3 12, 958. 00 129, 580
H5:34
B XRMELHAN (EHK) 100m Y
2 Lo R - AT B = i € &8 b B %
ZRMEILEN EAHRK) o L—UiRE
m 100. 00 6, 200. 00 620, 000
& it YE%HEH : 100.00m 6, 200. 00 620, 000
H5:35
2 fHERHEE SR (EHX) 100m2 %Y
2 Lo R - AT B = i € &8 b B %
HERHR ISR (EHX) o L—UiRE
m2 100. 00 2, 600. 00 260, 000
& it 1YE%HEH : 100.00m 2 2, 600.00 260, 000
&5 :36
2% - SR RHEIHEN (EHR) 100m2 %Y
2 Lo R - AT By = i € &8 b B %
B A AR (E D) o L—UiRE
m2 100. 00 8, 400. 00 840, 000
& it YE%HEH : 100.00m 2 8, 400. 00 840, 000
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&5 : 37
A $kEAT#EST  SD345 D13 L=940mm 1000k g5 Y
4 g B - BIKTE By = fili * % il ® &
&% (i) SD345 D13
k g , 030. 00 100. 00 103, 000
& B YE%HEH 0 1,000.00k g 103. 00 103, 000
&5 :38
2% BB EEFHR t=10cm 100m2%1Y)
4 g B - BIKTE By = fili * % il ® &
REEMT (BEER) t=10mm
m2 100. 00 2,450. 00 245, 000
& it {EZBEA : 100. 00m 2 2,450.00 245, 000
H5:39
LR BREBIE U 5T MER 100m225 4 (100m 2)
4 g B - BIKTE By = fili * % il ® &
ERARAR 9757 MER
m2 120. 00 26.00 3,120
HEER
A 0.20 22,100. 00 4,420
TREXER
A 1.00 17, 200. 00 17, 200
& & {E%8EH - 100. 00m 2 247.00 24, 740
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HE5 40
&% a9 ) —FEIFL ¢ 34mm  L=300mm 1008.5 Y
% 7 R - AT By H = B Of & | b B &
HEER
A 0.30 22,100. 00 6, 630
YRIEXR
A 3.10 20, 100. 00 62,310
LEEXE
A 0.80 17, 200. 00 13, 760
ERE={ N ERYL(ZER) 15keHk
B 2.10 848. 00 1,780 8H
TR B AR RE) I (FIFLT) 3.5~3. Tm3/min
I2&%5E) B 2.10 5,963.00 12,522
AR 2R0%
% 4.00 97, 002. 00 3, 880
= 5 YE%HEH - 100. 00FL 1,008. 00 100, 882
&HS: M
25 - #ilEH T EFD25A 100AR% Y
£ 7 R - KT By H = B Of & o b B &
TEALTUHh— D25A
ZN 100. 00 1, 300. 00 130, 000
= it YEZERES - 100. 00 1, 300. 00 130, 000
5 :42
¥ EMT h— 1K%Y
% 7 R - KT By H = B Of & o b B &
= SD345 D25 L=1200mm
ZN 1.00 1,370. 00 1,370
= 5 YE%HERN - 1. 00K 1, 370. 00 1,370
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Rifik -/ \v7r—

EHNEERREZOMREHEHR)IIE(ZD(2)

H5 .43
B ERRE 1007424 1)
4 73 FRHE - AR IR B H 2 B i & # it B &
EEEEE
A 4.00 17, 200. 00 68, 800
HEER
A 2.00 22,100. 00 44,200
e 2R0D%
% 100. 00 113, 000. 00 113, 000
= 5 YEZERES - 100. 00 2,260.00 226, 000
H5 44
L AMAT T XLy
4 73 FRHE - AR IR B H 2 B i & # it B &
2 0—5%9 L—> GREERER) 50tH
B 50. 00 63, 180. 00 3,159, 000 8H
= it YE%Heh - 1.00K 3, 159, 000. 00 3, 159, 000
HS . 45
B L—T 4 TR 22kg/& 100m 2%y
4 73 R - AR 3R B H 2 B i & # it B &
=24 V0%
m2 100. 00 510. 00 51,000
PRARAR
m2 120. 00 26.00 3,120
L0 ®iE
m3 1.00 2, 400. 00 2, 400
= 5 YEZERES : 100.00m 2 565. 00 56, 520
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RER-FET/vr—>

EHABEEOMRER@RIIE(ZND(2)

&HS . 46
2% BEkAMNTHASL  SD295A D16 L=970mm 1000k g Y
% 7 g - BIRTE B H = B Of € b s &
%5 (Bf) SD295A D16
k g 1,020. 00 95.70 97,614
BEMIMEL (LEILTay Y 8E) JL—tkE
k g 1, 000. 00 66. 00 66, 000
& it YEZHeH - 1,000.00k g 163. 00 163, 614
&HE5 4]
E2% e R e v 1N 100m2&Y
% 7 R - BIRTE B H = B Of € b s &
MBI AT AR S (FBREE) g L—rikE
m2 100. 00 3, 800. 00 380, 000
= it YEZERES : 100.00m 2 3, 800. 00 380, 000
&H5 .48
& ARERE ¢ 700 x 4000H 1AK%y
% 7 R - BIRTE B H = B Of € b s &
Iz Z2im B 4 ¢ 700 x 4000H
ZN 1.00 28, 500. 00 28, 500
= it YEZHEN - 1. 00K 28, 500. 00 28, 500
H5 49
&M a0 ) —bTER 18N-8-40 W/C65%. EFFIEEY 10m3&%Y
% 7 g - BIRTE B H = B Of € b s &
LT4—3HRbavyy—+¢ 18—8—40. W/C=65%LLTF
m3 10.10 8, 500. 00 85, 850
a2 ) — MTER (FHREE) avyy—hrIxYy—H
m3 10. 00 2,900. 00 29,000
= it 1YE%HEH - 10.00m 3 11, 485. 00 114, 850
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Rifik -/ \v7r—

EHNEERREZOMREHEHR)IIE(ZD(2)

H5 : 50
L TVIVE Tm3kyY
% 7 g - BIRTE BT 2 B Of € W = B &
AR
m3 1.000 33, 300 33, 300
= 5 1E%HEH : 1.00m 3 33, 300 33, 300
&E#S : 51
&M JOovyiRE 1B&Y (861@)
% 7 g - BIRTE BT 2 B Of € W = B &
LU
A 1.00 23, 400. 00 23,400
LEEXE
A 3.00 17, 200. 00 51, 600
AR 2E0%
% 0.50 75, 000. 00 375
= 5 1YEZHES - 86. 001& 876. 00 75, 375
H5 : 52
&% . 70w U EMRIES PEEE#EAX) 1.5Bx0.5Hx3.0L, 18N-8-40, 4.7t/{@ THHY (644@)
% 7 g - BIRTE BT 2 B Of € W = B &
cSwvy 11t3&
B 3.00 42,422.00 127,266 4. 70H / 8H
LU
A 2.00 23, 400. 00 46, 800
LEEXE
A 4.00 17, 200. 00 68, 800
AR L NOY
% 0.50 242, 866. 00 1,214
= 5 YEZHES - 64. 001 3,813.00 244, 080
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Rifik -/ \v7r—

EHNEERREZOMREHEHR)IIE(ZD(2)

H5 : 53
ZF : BREERQ U357 MER 100m2& Y (100m 2)
2 Lo R - AT By = B ol | b B &
BRARAK 957 MR
m2 120. 00 26.00 3,120
HEER
A 0.20 22,100. 00 4,420
LEEXE
A 1.00 17, 200. 00 17, 200
& & {E%8KEH - 100. 00m 2 247.00 24, 740
H5 : 54
&2 BR® 100m2%Y
2 Lo R - AT By = B ol | b B &
fHARI AR (E AN o L—UiRE
m2 100. 00 8, 400. 00 840, 000
& it {EZBEA : 100. 00m 2 8, 400. 00 840, 000
HS : 55
2 - ARZEREE: ¢ 700 x 40004 1A% Y
2 Lo R - KT By = B ol o b B &
Mtz 22 R 2 4 ¢ 700 x 4000H
X 1.00 28, 500. 00 28, 500
& it 1EZ%BER : 1.00K 28, 500. 00 28, 500
&S : 56
B a2y ) — MTE LD 10m3HY
2 Lo R - AT By = B ol o b B &
LT4—2H9Rbavy)—+ 18—8—40, W/C=65%LLTF
m3 10. 30 8, 500. 00 87, 550
a9 ) — MTHR (LEBTHEE) QYo y—r2xH—H
m3 10. 00 2,500. 00 25, 000
& it {E%BEH : 10.00m 3 11, 255.00 112, 550
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RER-FET/vr—>

EHABEEOMRER@RIIE(ZND(2)

&5 .57
&% B#® EFHR t=10cm 100m 24 Y
2 Lo R - AR BfT = B € &8 b B %
BHEEHT (BEER) t=10mm
m2 100. 00 2,450. 00 245, 000
& it {EZBEA : 100. 00m 2 2,450. 00 245, 000
&5 : 58
B EERSLE THE T A4 1X&Y
2 Lo R - BAIRTE B4 = B € &8 b B &
STTL—29L—r (R RARER) GhEmEiED J8) 25tR
H 3.00 42, 800. 00 128, 400 8H
y8a—3%9 L—2 (HEEREIR) 50tA
H 10. 00 63, 180. 00 631,800 8H
& it 1EZBER - 1. 00K 760, 200. 00 760, 200
H5:59
B oo ) — MTEREEL) 10m3Hy
2 Lo R - AR & B4 = B € &8 b B %
LT4—2H9Rbavy)—+ 18—8—40, W/C=65%LLTF
m3 10. 30 8, 500. 00 87, 550
aVY ) — MTER (ERBIHME) g L—ikE
m3 10. 00 2,500. 00 25,000
& it {E%BEH : 10.00m 3 11, 255. 00 112, 550
H5 : 60
2% - SR RHEIHEN (EHR) 100m2%Y
2 Lo R - BAIRTE B4 = B € &8 b B %
fHABI A RN (E AN o L—UiRE
m2 100. 00 8, 400. 00 840, 000
& it {EZBEA : 100. 00m 2 8, 400. 00 840, 000
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RER-FET/vr—>

EHABEEOMRER@RIIE(ZND(2)

&E#S : 61
2 $kERMNIT#EST  SD345 D13 L=940mm 1000k g4V
2 Lo R - AT By = B Of € &8 b B %
&% (i) SD345 D13
k g ,030. 00 100. 00 103, 000
& B YE%HEH 0 1,000.00k g 103. 00 103, 000
H5 :62
B EIBTE T =)
2 Lo R - KT B = B Of € &8 b B &
STTL—29L—r (R RARER) GhE > J8) 25t H
A 7.00 42, 800. 00 299, 600 8H
& B 1EZBER - 1.00K 299, 600. 00 299, 600
H5 : 63
B2 o) — MTERGEL) EHEEY. 18N-8-40 10m3&HY
2 Lo R - AT B = B Of € &8 b B %
i =D 18—8—40, W/C=65%LLTF
m3 10. 30 8, 500. 00 87, 550
a9 ) — MMTR (LEBTHEE) g L—ikE
m3 10. 00 2,500. 00 25, 000
& it 1YE%HEH - 10.00m 3 11, 255. 00 112, 550
H5 :64
2% - SR RHEIHEN (EHR) 100m2 %Y
2 Lo R - AT By = B Of € &8 b B %
B A AR (E D) o L—UiRE
m2 100. 00 8, 400. 00 840, 000
& it YE%HEH : 100.00m 2 8, 400. 00 840, 000
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RER-FET/vr—>

EHABEEOMRER@RIIE(ZND(2)

HS .65
£ REBRMATHEN (EHR) 100m2&Y
2 Lo g - BIRTE BARL H = B Of | b B %
AR (EHK) g L—ydkE
m2 100. 00 9, 400. 00 940, 000
& it 1EZ8EEH : 100. 00m 2 9, 400. 00 940, 000
&S .66
&% miEEH EFER t=10cm 100m2%Y
2 Lo g - BIRTE BARL H = B Of o b B &
HEEHRT (BEER) t=10mm
m2 100. 00 2,450.00 245, 000
= it YEZERES : 100.00m 2 2,450.00 245,000
&H5 .67
&5 : JKAD & T ie THEM 1XHY
2 Lo R - BIRTE BARL H = B Of o b B %
oR—59 L—r GHEERER) 50t &
B 14.00 63, 180. 00 884,520 8H
= it YE%Heh - 1.00K 884, 520. 00 884, 520
&5 .68
2 BEkiREN 1HMEyY
2 Lo R - BIRTE BAGL H = B Of o b B &
B EN
®-H 110. 000 34.50 3,795
BiEE (HEiR) 22%x1524%x3048
® 1.000 700. 00 700
& &t EZHEH ;1. 004 4. 495,00 4 495
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Rifik -/ \v7r—

EHNEERREZOMREHEHR)IIE(ZD(2)

H5:69
L BERIRERE - B E 100m2&Y
% 7 g - BIRTE BT 2 i | b B &
HEE&
A 0.140 22,100. 00 3,094
LU
A 0.140 23, 400. 00 3,276
LEEXE
A 0.140 17, 200. 00 2,408
N yhifd (Jr-5%Y) 1EE
B 0.140 54,954. 00 7,693
HME (R
% 1.000 16, 471.00 164
= it YEZERES - 100.00m 2 166. 00 16, 635
H5:10
B REEMEERR IES=1)
% 7 R - BIRTE BT 2 i o b B &
EVBETEES
= 1.00 19, 130. 00 19,130
mEL - HAAHER
= 1.00 4,207.00 4,207
= it YE%Heh - 1.00K 23, 337.00 23, 337
H#E5: 1
&% KBELt05T D)
% 7 g - BIRTE BT 2 i o b B &
HEE&
A 0.070 22,100. 00 1,547
YRIEXR
A 0.070 20, 100. 00 1,407
N 9B ER
B 0.070 52,902. 00 3,703
= it YEZHES - 10.00% 665. 00 6, 657
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Rifik -/ \v7r—

EHNEERREZOMREHEHR)IIE(ZD(2)

&H5:12
B T4 E—a1=y MEE 10%2
% 7 R - AT By = B Of & | b B &
SITFL—rL—r A AR ER) GhEffES JE)16tH
H 0.15 38, 000. 00 5, 700 8H
HEER
A 0.15 22,100. 00 3,315
HHIEEER
A 0.30 20, 100. 00 6, 030
LEEXE
A 0.45 17, 200. 00 7,740
& B 1EZBEH - 10. 00 2,278.00 22,785
5:74
B RBFEEE 14y
% 7 R - KT By = B Of & o b B &
RBFEZHFEB
A 40. 00 10, 700. 00 428, 000
B CE] 2R0%
% 0.50 428, 000. 00 2,140
& B 1EZBER - 1. 00 430, 140. 00 430, 140
&H5:15
B . SREILER 14y
£ 7 R - KT By = B Of & o b B &
SITFL—29L—r A AR ER) GhE > J8) 25t H
H 1.50 42, 800. 00 64, 200 8H
HHIEEER
A 5.50 20, 100. 00 110, 550
EiREER YEIEE DY
% 375.00 174, 750. 00 655, 312
& it 1EZBER - 1. 00K 830, 062. 00 830, 062
&H5:176
& BEISBREIRERE 1=
% 7 R - KT By = B Of & o b B &
HirgE&
TI7E 4.00 36, 400. 00 145, 600
& it 1EZBER - 1. 00K 145, 600. 00 145, 600
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